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m E1 820 678 697 1,375
m E2 1,167 969 936 1,905
i [E3 981 748 817 1,565
m E4 1,097 891 849 1,740
F E1 807 707 725 1,432
F B2 544 498 432 930
F S 1,082 975 924 1,899
% 1 1,500 1,336 1,291 2,627
% 2 1,448 1,433 1,441 2,874
% 3 1,123 1,070 996 2,066
% 4 2,010 1,761 1,625 3,386
AN 613 520 505 1,025
i JI2 715 638 575 1,213
sr JII3 820 746 727 1,473
i )4 729 647 567 1,214
% I 736 710 726 1,436
EF )2 1,198 1,021 1,111 2,132
% )3 1,859 1,645 1,745 3,390
SLEET 774 648 668 1,316
ILEIE2 1,030 803 740 1,543
JIHFES 477 310 276 586
STERIBE4A| 1572 1,143 1,240 2,383
STHEES| 1,395 1,300 1,395 2,695
R 122 134 129 263
1 2 635 539 561 1,100
& R1 988 868 846 1,714
g R2 816 763 833 1,596
& JR3 857 877 807 1,684
g R4 1,258 1,120 1,106 2,226
A E1 1,402 1,201 1,206 2,407
A E2 1,140 1,071 1,046 2,117
A [ES 1,456 1,411 1,181 2,592
A B4 1,271 1,264 1,146 2,410
A Pl 1,338 1,309 1,260 2,569
A Fr2 841 791 832 1,623
A Fr3 858 838 845 1,683
A _Fi4 1,173 1,103 1,067 2,170
HEZ1 701 568 629 1,197
HEGfiz2 801 765 760 1,525
HEZ3 826 737 729 1,466
HEOfZ4[ 1,263 1,148 1,117 2,265
% 2] 1,165 979 984 1,963
EEE2 807 677 657 1,334
=E1BS 846 779 820 1,599
I 1,313 1,006 1,005 2,011
iR %2 451 396 331 727
R %S 466 375 360 735
iR %4 930 814 795 1,609
A 1 1,625 1,600 1,610 3,210
A F2 925 787 730 1,517
X FE3 644 524 529 1,053
X F4 2,446 2,254 2,444 4,698
/v Et| 53,861 [ 47895| 47,373 | 95,268
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I 638 726 673 1,399
¥ 2 731 651 586 1,237
# I3 643 605 535 1,140
¥ 4 698 633 630 1,263
# Jl5 1,542 1515 1,686 3,201
£ 1 1,472 1,411 1,635 2,946
¥ F2 780 695 597 1,292
%( I3 823 658 667 1,325
¥ 4 1,073 944 954 1,898
% ¥5 1,108 1,048 1,096 2,144
m E1 997 914 867 1,781
m B2 1,284 1,180 1,212 2,392
m B3 2,052 1,878 1,812 3,690
m B4 1,303 1,278 1,281 2,559
m E5 2,182 1,970 1,909 3,879
RS 1,546 1,471 1416 2,887
HEE2|] 2575 2,402 2,390 4,792
HEE3|[ 1572 1,630 1,709 3,339
HEBE4|] 1,739 1,655 1,706 3,361
BEES| 1,890 1,781 1,870 3,651
HAE6| 2591 2,575 2517 5,092
12 @1 1,052 1,209 1,072 2,281
g @2 2,125 2,082 2,531 4613
= A1 1,259 1,470 1,608 3,078
£ H2 1,835 1,898 1,898 3,796
= HS3 1,787 1,815 1,730 3,545
£ H4 2,406 2,338 2,556 4,894
= H5 1,510 1,489 1,436 2,925
B F1 1,218 1,079 1,072 2,151
B E2 1,909 1,774 1,926 3,700
B E3 2,164 2151 1,997 4,148
R B 3,068 2,960 3,118 6,078
m B2 989 942 901 1,843
R B3 2,361 2,254 2,207 4,461
X 1E1 2,856 2,648 3,133 5,781
X {E2 1,128 1,112 1,131 2,243
X 1E3 1,153 1,316 1,328 2,644
NN 1,686 1,710 1,585 3,295
N 1,841 1,958 1,888 3,846
J\ =3 1,733 1,734 1,677 3,411
I\ L4 1,901 2,015 1,953 3,968
J\ &5 1,566 1,509 1,536 3,045
J\ L6 1917 1,981 1,906 3,887
3L BT 3,346 3,088 3,264 6,352
i fE2 830 770 752 1,522
i {E3 1,352 1,320 1,346 2,666
i 1E4 1,654 1,781 1,727 3,508
31 {E5 1,464 1,658 1,530 3,188
3L {E6 1,168 1,212 1,285 2,497
HEHET 73 82 64 146
HEMH2 588 611 548 1,159
HE=HES3 267 275 233 508
N 79,445 | 77,861 | 78,586 | 156,447
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m E1 731 627 636 1,263
i [E2 1,107 919 883 1,802
m E3 934 714 780 1,494
i E4 1,030 846 802 1,648
F E1 786 691 707 1,398
F B2 524 485 414 899
F &3 1,062 955 897 1,852
% 1 1,411 1,273 1,219 2,492
% 2 1,399 1,395 1,397 2,792
% 3 1,073 1,030 928 1,958
% 4 1,911 1,690 1,490 3,180
AN 598 512 489 1,001
i JI2 699 625 560 1,185
sr JII3 788 719 705 1,424
i )4 696 615 543 1,158
% I 711 689 710 1,399
& 2 1,165 995 1,080 2,075
% )3 1,809 1,606 1,691 3,297
SLEET 715 606 554 1,160
THIE2 928 728 608 1,336
JLERIES 412 275 216 491
STERB4A| 1,274 972 926 1,898
SIHEIES| 1,354 1,259 1,321 2,580
R 121 132 128 260
1 2 610 517 534 1,051
& R1 964 854 816 1,670
g R2 788 731 803 1,534
& JR3 834 858 780 1,638
g R4 1,188 1,075 1,026 2,101
A FE1 1,362 1,168 1,168 2,336
A E2 1,121 1,059 1,025 2,084
A [ES 1,400 1,368 1,138 2,506
A B4 1,224 1,231 1,081 2,312
A Pl 1,287 1,272 1,212 2,484
A Fr2 817 780 801 1,581
X Fr3 844 821 829 1,650
A _Fi4 1,139 1,078 1,009 2,087
HEZ1 675 545 608 1,153
HEGfiz2 759 734 739 1,473
HEZ3 804 718 708 1,426
HEOMz4| 1,247 1,134 1,094 2,228
% 2] 1,134 949 954 1,903
EEE2 792 666 644 1,310
=E1BS 819 755 792 1,547
I 1,200 916 872 1,788
iR %2 359 316 236 552
R %S 394 326 271 597
iR %4 792 711 653 1,364
A 1 1,549 1,532 1,483 3,015
X F2 850 725 640 1,365
X FE3 588 470 472 942
X F4 2,334 2,164 2,289 4453
I EF | 51,112 45831 | 44361 | 90,192

A A ¥’/ &
EREARSIRICEDCEARA
ARt | HE E; £ &t
1 R 87 68 40 108
BITH | % E; £y &5t
I 616 706 642 1,348
¥ 2 704 634 560 1,194
# I3 605 578 482 1,060
¥ 4 655 611 584 1,195
# Jl5 1512 1,484 1,621 3,105
% 1 1,449 1,392 1,511 2,903
¥ F2 766 683 584 1,267
%( I3 810 649 648 1,297
¥ 4 1,049 926 920 1,846
% ¥5 1,087 1,031 1,074 2,105
m E1 973 889 849 1,738
m B2 1,272 1,168 1,185 2,353
m B3 2,017 1,853 1,773 3,626
M B4 1,273 1,248 1,251 2,499
m E5 2,153 1,949 1,869 3,818
RS 1,515 1,450 1,378 2,828
HEE2|] 2545 2,378 2,340 4718
HEE3|[ 1543 1,606 1,667 3,273
HEBE4|] 1,717 1,638 1,668 3,306
HEE5| 1,865 1,752 1,818 3,570
HAEE6| 2570 2,555 2,474 5,029
12 &1 1,017 1,166 1,031 2,197
g @2 2,067 2,015 2,398 4413
£ A1 1,226 1,426 1,543 2,969
£ H2 1,804 1,864 1,848 3,712
= HS3 1,757 1,778 1,683 3,461
£ H4 2,364 2304 | 2494 4,798
= H5 1,494 1,472 1,411 2,883
B F1 1,196 1,053 1,050 2,103
B E2 1,878 1,750 1,874 3,624
B E3 2,132 2111 1,942 4,053
R B 3,023 2,912 3,032 5,944
m B2 971 923 880 1,803
R B3 2,326 2,220 2,157 4,377
X {E1 2,804 2,571 3,026 5,597
X 1E2 1,111 1,096 1,093 2,189
X 1E3 1,127 1,291 1,289 2,580
NN 1,661 1,683 1,540 3,223
N 1,810 1,925 1,832 3,757
J\ =3 1,709 1,709 1,632 3,341
I\ L4 1,860 1,983 1,889 3,872
J\ 55 1,534 1,478 1,478 2,956
J\ L6 1,881 1,944 1,851 3,795
3L BT 3,197 2,933 3,090 6,023
3 {E2 801 746 726 1,472
i {E3 1,320 1,285 1,296 2,581
3L {4 1,612 1,743 1,638 3,381
31 {E5 1,405 1,607 1,463 3,070
3L {E6 1,126 1,178 1,233 2,411
HEHET 71 80 61 141
HEMH2 564 575 524 1,099
HE=HES3 254 266 224 490
N 77,798 | 76,267 | 76,126 | 152,393
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m E1 89 51 61 112 # I 22 20 31 51
W E2 60 50 53 103 2 27 17 26 43
m E3 47 34 37 71 # I3 38 27 53 80
m E4 67 45 47 92 ¥ )4 43 22 46 68
F E1 21 16 18 34 # Jl5 30 31 65 96
F B2 20 13 18 31 ¥ A1 23 19 24 43
F %S 20 20 27 47 ¥ F2 14 12 13 25
% 1 89 63 72 135 ¥ I3 13 9 19 28
% 2 49 38 44 82 ¥ T4 24 18 34 52
% 3 50 40 68 108 ¥ I5 21 17 22 39
% 4 99 71 135 206 M B1 24 25 18 43
L JIA 15 8 16 24 m B2 12 12 27 39
)2 16 13 15 28 m B3 35 25 39 64
sz JII3 32 27 22 49 m B4 30 30 30 60
i JI4 33 32 24 56 [m B5 29 21 40 61
& 1 25 21 16 37 RMEET 31 21 38 59
)2 33 26 31 57 HEBE2 30 24 50 74
& JI3 50 39 54 93 HAS3 29 24 42 66
THEET 59 42 114 156 HEE4 22 17 38 55
STEHIE2 102 75 132 207 BMRBE5 25 29 52 81
STHEIES 65 35 60 95 BHMHE6 21 20 43 63
STEAEA 298 171 314 485 12 &1 35 43 41 84
STHEIES 41 41 74 115 g @2 58 67 133 200
1 1 2 1 3 £ H1 33 44 65 109
¥ 2 25 22 27 49 = H2 31 34 50 84
& JR1 24 14 30 44 £ HE3 30 37 47 84
g8 R2 28 32 30 62 £ A4 42 34 62 96
& JR3 23 19 27 46 £ M5 16 17 25 42
g R4 70 45 80 125 E1 22 26 22 48
A E1 40 33 38 71 B F2 31 24 52 76
A E2 19 12 21 33 # E3 32 40 55 95
A &S 56 43 43 86 E B 45 48 86 134
A B4 47 33 65 98 m B2 18 19 21 40
A P 51 37 48 85 = B3 35 34 50 84
K Fr2 24 11 31 42 X {E1 52 77 107 184
A i3 14 17 16 33 X 1E2 17 16 38 54
A _Fi4 34 25 58 83 X {E8 26 25 39 64
HEZ1 26 23 21 44 NN 25 27 45 72
HEGfiZ2 42 31 21 52 I\ =2 31 33 56 89
HEZ3 22 19 21 40 J\ &3 24 25 45 70
HEfiz4 16 14 23 37 I\ =4 41 32 64 96
EEE1 31 30 30 60 J\ &5 32 31 58 89
EEE2 15 11 13 24 J\ |56 36 37 55 92
=ZE1BS 27 24 28 52 3 {E1 149 155 174 329
iR R 113 90 133 223 3 {E2 29 24 26 50
iR %2 92 80 95 175 37 {E3 32 35 50 85
8 %3 72 49 89 138 3 {4 42 38 89 127
iR %4 138 103 142 245 iL {E5 59 51 67 118
X FA1 76 68 127 195 i {E6 42 34 52 86
A F2 75 62 90 152 HEHET 2 2 3 5
X FE3 56 54 57 111 H=HE2 24 36 24 60
X F4 112 90 155 245 REHH3 13 9 9 18
N E 2,749 2,064 3,012 5,076 N E 1,647 1,594 2,460 4,054




